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Which of the following is a
fiduciary allowed to do ?

(A) Make a profit from the trust
(B) Actin good faith

(C) Act for his own benefit

(D) Act for the benefit of third

party

Which of the following relations
under fiduciary relations ?

(A) Banker

(B) Director of a company

(C) Joint family manager

(D) All of the above

What are the classification of

equitable remedies ?

(A) Rectification of instruments

(B) Rescission of contracts

(C) Both (A) and (B)

(D) None of the above

Which of the following are

principle on which equitable relief

is granted ?

(A) He who comes to equity,
must come with clean hand

(B) He who seeks equity must do
equity

(C) Delay defeat equity

(D) All of the above

fyfofea # 9 frae dwaie wu 9
eI ST STIAT ©

(A) T 9§ @M a9

(B) Wg-fdwary # o Fw

(C) 9 o™ & foly B H=T

(D) TRR WHR & oM & folt o1
HRAT

ffoRad § 9 o Jvaig T @

3T 3T &

(A) daR

(B) BFF & SIERACY

(C) YT HeH BT Ydtid

(D) SR ol

wferes Srgarst &t affaor @ g ?

(A) Yol BT oRYfE

(B) dfacmll @1 fadsd

(C) SWIA (A) 3R (B)

(D) SR & F PIg 81

frafafed # 9 o9 Rgm & (e

AUR W ARG A & b S

T © ?

(A) S GRIT & IRV H AT § SAD!
WS El T ARy

(B) Sl W AET & 9Dl AR
AT TAMRY

(C) faemg Ar=Ir B1 WIRNT HRam B

(D) SWRIa ol
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What are the remedies open to

beneficiary in case of breach of

trust ?

(A) Relief against the trustee
personally

(B) Right to follow trust property

(C) Both (A) and (B)

(D) None of the above

What are the Rights of

Beneficiary?

(A) Right to rents and profit

(B) Right to specific execution

(C) Right to put an end to the
trust

(D) All of the above

What are the statutory powers of

Trustees ?

(A) Power in relation to the
conduct sale of trust property

(B) Power to vary investment

(C) Both (A) and (B)

(D) None of the above

What are the rights of trustees ?

(A) Right to title deed

(B) Right to Re-imbursement and
identity

(C) Right to take direction from
court

(D) All of the above

IRT B S | Raedl & U

SUAR R E ?

(A) TG HY W AR & fog
SIBEA

(B) =T fafgy SR &1 Aferpr

(C) SWE (A) 3R (B)

(D) SR § F PIg 81

femfeal & @ R € ?

(A) foRmRm I o™ U A @
RIBGAN

(B) faRre fsares o1 J¥iaR

(C) TN A PR BT ARPR

(D) SWRIa ol

SR o1 wfafre fdadr @& g ?
(A) <IN 9HR & A o afad
(B) fafrem # aRad o= @1 wfdd
(C) SWEd (A) 3R (B)

(D) SR & F PIg 81

YREMRGT & AT ARPR BT § ?

(A) ¥ faerg &1 JffeR

(B) @dl @ ufayfd e afogfd @
SIBEA

(C) O™ ¥ Fde o &= @
SIBEA

(D) SWIa ol

Series-C

LL.B604/ 393 Page - 4



0. What are the duties of a trustee : 9. R & Hed B © -
(A) Positive duty (A) e /FhRIcHD TR
(B) Negative duty (B) TAORIH® <M
(C) Both (A) and (B) (C) SWIF (A) 3R (B)
(D) None of the above (D) SRIE H 3 PIg T
10.  Who are the parties in a trust ? 10.  UF <I9 H UHR $H Bl § 7
(A) Trustee (A) =TI
(B) Testator (B) =Tl
(C) Both (A) and (B) (C) SWEd (A) 3R (B)
(D) None of the above (D) SRIFT & q BIg T2l
11.  What are the nature of charitable 11. tﬁ I WA =N Dl EI?% g
trust : (A) AR
(A) Indefiniteness (B) i
((lé; i/[eriti)lll‘%i)usness (C) edqaT
erpetui
ED) Al?i)f they above (D) SR W
12.  What are the essential elements of ~ 12. IRV <IN & 3MIIH cd T 7
resulting trust ? (A) aq:gf B
laration
o) U ) e
(C) Want of consideration (C) i 1 3T
(D) All of the above (D) ST
13.  Which of the following types of  13. fA=foiRad ¥ ¥ fd YR &1 U N
trust is void ? g7
(A) A trust for the invention of a (A) TP T ™ W T IR
new Pan-European language T B WIS B B ol ©
(B) A Trust for the purposes (B) T% U N fRieT Seed ol
beneficial to the public fed 2
(C) A trust to build a swimming- (©) TF F fafics @ frafosar &
pool for the employees of ferg TRoT @t @ fopor %@ Rl
company limited (D) SR H § Pl Tl
(D) None of the above
Series-C LL.B604/ 393 Page - 5



14, Which  of the following 14. f=folRed & ¥ o9 ¥ dhaeR fomr
transactions is effective and MR & JHTdl 3R Jaa+ig g 7
enforceable Without formality ? (A) q;la'ﬁ ¥ e R & =™ &
(A) Declaration of trust of a legal o

nterestinland (B) U® TOIcAd <IN H TRIAER &
(B) Transaction giving rise to a
constructive trust S & _
(C) Deposition of an interest © A A H R @7 Tg
under an existing trust (D) SWRIE H W PIg T
(D) None of the above

15.  For which type of property must a 15. &9 yoR @ Ry o 9o = o
declaration of trust be proved by foRad wy # g =nfey ?
writing ? (A) IR
(A) Shares . (B) fErH® PR
(B) Contractual rights ©) ‘j‘ﬁ
(C) Land f : :

(D) None of the above (D) 13 o el

16. In a trust, which of the following 16. =9 # <R & O § o9 a1 $oF
statement does not apply to AN 3 | ?
trustees ?

(A) The trustees hold the legal (A) el W SRR €A el §
estate (B) IRl dael AIqul fReiRe e
(B) The trustees hold the g
equitable interest only (C) i Q:]TQ]‘C({U‘T IR fafSs iy
(© The tstss bold legil and bt
(D) The trustees pay income to (D) =R a1 A @
the beneficiaries Jdr CaGRS

17.  What is the difference between a 17.  =I 3iR IR & T =R B
trust and Agency : (A) SR @ Jaife  dad g,
(A) Trustees have a fiduciary femat @ T8t

duty agen}‘i dl(()1 not (B) TR W Ry eRT FRar 3
P endonot T et
(C) Trustees must not make (C) =wi @ A Tel 3R
unauthorized profits, agent I, AP Y Wbl §
may (D) I U Rl B Yo
(D) Trustees may not delegate Tel PR AGdT Sdd ADBAT B
their duties, Agents may bl &
Series-C LL.B604/ 393 Page - 6



18.  Which of the following is not a 18. fy=fafed & & oF = @ fagwar
characteristic of a trust ? T
A) The beneficiaries give no
» consideration : (A) Te el T <
(B) The  beneficiaries  have (B) ffafer) &1 "fererr  AffieR
proprietary rights RIS
(C) The beneficiaries may sell - :
their equitable interests © 9 W fedl @
(D) The  beneficiaries may faspa ox wa T &
enforce the trusts against the (D) fRafeR = @ aqucmi 67
settlor P e o o o
19. What are the classification of 19. =N & S & TR AN bl 4T
trusts according to their objects ? iR & ?
(A) Private trust (A) ol =
(B) Public trust (B) % =N
(C) Charitable trust (C) TR T
(D) All of the above (D) SwRIad T
20. The classification of trust 20. <INUR & b Pl El?f%f Cl S RIN
according to the nature of the T BT TR &
duties of the trustees ? (A) SR T
(A) Simpile trust B) Rt
(B) Specific trust © SR A ) o ®B)
(C) Both (A) and (B) _ _
(D) None of the above (D) SR H | Pl T
21.  When can a trustee be competent  21. &9 ®ls Il FfdeT A H 9 T I8
to contract, to execute a trust ? T I Tfod B Fdbal 27
(A) Itis a public trust (A) IR T TP Ae T 2
(B) Where the trust involves the (B) S ere F RS ehar 4
exercise of discretion
TANT 3 ©
(C) If there are more than one _
trustees © ate v ¥ o =RA &
(D) None of the above (D) ST H § PIE Tl
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22.  Every trust of which the purpose is  22. AH TN NS I ARS8, 98
unlawful is : K
(A) Void (A) I3
(B) Voidable (B) el
(C) Valid but not enforceable ©) e ﬁ’TYl SEEREID
(D) None of the above (D) SWIET H § PIE Tl
23.  To whom Indian Trusts Act shall — 23. 7 W 9 <ot ™ o &
apply ? g ?
(A) Public, private, religious or (A) A%, UIgde, O wd g Aol
charitable organizations W
(B) The law relating to private (B) Wisde ¢x U4 IRl & e
trust and trustees Ay W
(C) Mutual relations of members (C) 3ifava uRaR ® el & aueh
of an undivided family el W
(D) Every trust for distribute (D) T sy a0 o = @ oW
prizes
24.  Which Section of the Indian Trust 24. 9RdY 9 JRfFRE @ &9 ax7 ¥
Act. Describes the competent UHh FeH IR Bl gRaid far
person to become trustee ? 2?
(A) Section-9 (A) 9RT-9
(B) Section-10 (B) &RI-10
(C) Section-11 (C) ERI—11
(D) Section-12 (D) R—12
25.  Can a trust be created by on behalf ~ 25. T % JRP & oIy =9 Ifed foar
of a minor ? ST gpdl & 7
(A) Yes, with the permission of a (A) & AR SRR W@y el
civil —court of original AR e Y ajﬂlﬁ[ EN
jurisdiction _
(B) Tl
(B) No |
(C) Partly true (©) SR e
(D) None of the above (D) SR DI el
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26. What are the necessary elements 26. Udh g™ ® o b fou w1 aws
for constituting a trust ? o Bl & 7
(A) Intention to create a trust (A) =™ CORIGE| %@ AR
(B) Purpose of the trust (B) I & Ie%d
(C) Beneficiary of trust (C) ¥ & feameer
(D) All of the above (D) SRITd a4l
27. The Indian Trust Act does not 27. WRAG N ARTIH Al TN W AN]
apply to public trust the statement e} 2] IE P &
1S : (A) T
o
ECi Pzriley true (©) 3R W:ﬁ _
(D) None of the above (D) SRIE 7 W Pl Fel
28.  Who among the following has a  28. fy=foiRaq # 9 @9 =vd d=RT 4
right to the rents and profits of the fORET SR M U RA BT SAIBNI
trust property ? g?
(A) Trustee (A) =il
(B) Author of the trust (B) =N @I ol
(C) Beneficiary (C) fearereany
(D) None of the above (D) SWIH # J D5 Tl
29. Can a trustee buy or become 29. T Ud ~URI =Uxd FHURT @ HY, TG
mortgage or lessee of the trust T YTl H] Hebell 27
property ? (A) il
Eg I:es (B) &l
0 o
(C) Yes, only with the permission (€) # o To Rives T B
of principle civil court and if Wﬁ § SR A T P, T
the manifestly for the JP Heel feetafal @& @mr @
advantage of the beneficiary ferq amela &1
(D) None of the above (D) SWRIGT H F BIg el
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30. The beneficiary is entitled to have 30. TS I H RARERA BT MR S0
the intention of theauthor of the JEd P U Ig g Bdr € b ag
trust specifically executed to the IGH T RafeRal & Rdl @
extent of the beneficiary interest e
the statement is : (A) T
(A) True ‘

(B) False (B) _Ic
(C) Partly correct (C) SR W’:ﬁ _
(D) None of the above (D) SRIGT § 4§ DIg el

31.  According to Section 60 of the 3. YR N AffTH @ gRI-60 @
Indian Trust Act that beneﬁciarﬁ SR T TRy § Rafer &
has right that trust property sha _
be HRHR B & -

(A) Property protected (A) OF T J WM
(B) Administered by  proper (B) SR &fdd gr1 yewr
person S ey :
(C) Administered by  proper © i &l d
member of persons (D) STRIG T
(D) All of the above

32.  Can a beneficiary transfer his 32. 1 RAOMeR) oM f2dl & MmRe
interest ? PR FhAT & 7
(A) Yes ( A) Ey[

E(]é; I(\)Izl if he is competent ®) :@F R
coni,ract ’ © RN o &
(D) None of the above (D) 3l T

33.  Who among the following are not  33. &R—60 YR <IN ARH & TR
proper person who can administer PH— Afed Sfud afdd Tef & o
trust. with in ‘Fhe meaning of T BT AGETE T TS ?

Section 60 of Indian Trust Act ?

(A) An alien enemy (A) TP 2 ALK

(B) A person domiciled abroad (B) T faeel afdrar

(C) A person having an interest ) feafeRal @& feai o Rd
inconsistent with that of the T e @R
beneficiary

(D) All of the above (D) SR T
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34,  Who among the following cannot  34. fy=forRad § & o9 IR 78I 81 bl
be trustee unless the personal law W9 do RaeRal o afedrd fafd
of the beneficiary allows 3T AT el od ?
otherwise? (A) Th JTTD
(A) A minor (B) U& faarfed wfean
(B) A married woman () SR A (A) Iy (B)

(C) Both (A) and (B) (D) SR § F FIE 78
(D) None of the above

35. The trustee has no right to be 35. <R FEfaRed 9 @ fode I @l
reimbursed for : T T8 FR G
A) The expenses made by him
» for inlq)provement of the (A) W % faam & ford S gn

property fhd T T B ferg
(B) The expenses reasonably (B) =N 3 T gq RIS
necessary to the due :
administration of trust Jaxae w @l
(C) The preservation of trust (C) =ard wf & W 3 forg
property (D) Rl & f2al @ wRemr &
(D) The protection of rights of R
beneficiary

36.  Under which Section of the Trust  36. =9 3IT9 1882 & fbg o1 H
Act 1882 the definition of the YTIHT DT GRINT foar a7 & ?
breach of trust is provide ? (A) gRI-1(d)

(A) Section-1(d) (B) HR-2
(B) Section-2 (©) T3
(C) Section-3

(D) Section-5 (D) #mRF=5

37. Who said “Trust is the very centre ~ 37. fha dgl o =9 AT @I W@Tg

and kernel of Equity ?” 3R gl & ?
(A) Bacon (A) CEn]
(B) Story (B) R
(C) Snell (C) ¥
(D) Hanbury (D) SN
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38. Who out of the following cannot  38. fAHfRaq ¥ ¥ &9 U =g &l oy
create a trust ? T TR qHdr g ?
(A) A person of 21 years of age (A) 21 99 @I afdd
(B) An Advocate (B) U® fferga
(C) A minor (C) TH JITD
(D) A Juristic person (D) U qRe fed
39.  Which of the following Sections of ~ 39. 9RAY <N JEIT B BT A GRT
the Indian Trust Act deals with T & fo <R @7 919 el g 7
liability for breach of trust ? (A) gRT—20
(A) Section-20 (B) RT-21
(B) Section-21 (C) €R—22
(C) Section-22 (D) gR—23
(D) Section-23
40.  Which one of the following is not  40. Ueh =g & 907 # f=forRag & 4
necessary for the creation of trust ? I ARG ol © ?
(A) The author of Trust (A) <IN BT oEH
(B) Trustee (B) =arfl
(C) Legal representative (C) fafew yfafafer
(D) Beneficiary (D) fearferenT
41. Rights of beneficiaries are 41. RARERA & AERT B Fawr
provided under which Sections of IRAT =TT JARFRE @) f anT # @
Indian Trust Act ? T g ?
(A) Section 51 to 65 (A) €RT — 51 ¥ 65
(B) Section 53 to 67 (B) €RT — 53 ¥ 67
(C) Section 55 to 69 (C) ©RT — 55 ¥ 69
(D) Section 57 to 71 (D) °RT — 57 |71
42.  Which one of the following can  42. f=foRad ¥ ¥ &9 U =g &l o7
create trust ? P GhdT & ?
(A) convict (A) cRig
(B) Lunatic (B) UNTA
(C) Alien (C) facsh
(D) Infant (D) fgpl
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43.  Who among the following cannot  43. fA=fiRgd ¥ & &9 Fafdeny 781 &
become beneficiary ? Hhdr ?
(A) The Government (A) TSR
(B) Unborn Child (B) ST 11
C) C ti 2
©) o.rpora ion ©
(D) Alien
(D) fade
44,  Which of the following 44. fi=foRad § ¥ @9 i uRRufT
circumstances is likely to defeat an fdaTd /g B WIS ol & 7
in personam claim ? (A) Ffarer @ 9
(A) The defendant’s death (B) WRae &1 ng R
B) The defendant’s personal
®) inseolvency P (C) TTa1 B aren =l afaera &
(C) The claimant has suffered no i T e
personal injury (D) Il TF & ?
(D) The defendant is a company
45.  Which of  the following ~ 45. f=folRad & | SN T HAF g9 T
propositions is always true : 3.
(A) The trustee hold legal title to
the trust property (A) R e wEh @ fARe @
(B) The trustee is not a gRd ol &
beneficiary of the own trust (B) =i AW T P A TS
(C) A trustee 1is never the
absolute owner of trust g
property (C) =URY U FHRT BT F A1 qOl
(D) None of the above W TS A
(D) SWIE ¥ ¥ P Tl
46. To make defendant liable as a  46. Ufdad] & W=icA® IR & w9 §
constructive trustee, it must be Ser 89 @ ford ufqardl g1 I8
proved that the defendant : AIfeT o1 81 T 6 98
(A) Had actual knowledge that (A) =9 WERT @ aiRd T
would make it SUE SR ot €9 A @
unconscionable to retain the 2
trust property gn—r[
(B) Shut his eyes to the fact that (B) dd d& T W Ul S S
he was receiving trust =N T Efﬁ_ Y W8T fohar o
property in breach of trust © SWRIGT HI (A)Gﬁ'\’ (B)
(C) Both (A) and (B) (D) WA # | BIg el
(D) None of the above
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47.  Anessential element of ‘Death bed ~ 47. IAT T BT AAIS q<d T 87
gift’ is : A) R & XA DI A B
(A) The handover of the front &) 3
door key of the house TRE

(B) The handover of the (B) TR & deol Bl RS
possession of the house C) T & @I fiorg &1 IReM

(C) The handover of the title © ,
deeds of the house (D) SWIFT # ¥ BIg Tl

(D) None of the above

48. In a mutual will, the consideration  48. Udh YAl SOUA H AT &1 Ufdhol
for the contract is : 2
(A) The couple prqmising not to (A) WSl ERT U gE@l @
. ;el:/oke thefe w111k. . FURIGERT B TG
(B) wilels couple makiig Mot (B) IS gRI U WA 20T Bl Joi
(C) The couple leaving property (©) SIS ERT U5 W % foro R

to each other o1y ic&_ _
(D) None of the above (D) SWiE H | IS el _ _

49.  Why was “Sport” not traditionally ~ 49. T Wl I WRERFT ®Y H WRE e
regarded as charitable ? T ST & 7
A) B t all of rt N : :
(A) Because .no all of sports A) R

benefit children
(B) Because no sport could be &

open to all (B) e ol |99 ford @ﬁ el €
(C) Because it was not possible to (C) ®Nfb Ig ol o= e =8l b

decide which sports were for B T T dArplRg § 2

the public benefit .

P , (D) ®Nfb el Th SHCH fhal Tl

(D) Because sports is  not

productive activities §

50.  Which of the following would not ~ 50. fy=ifofad & I @9 O Wl <™
quality as a charitable trust for the &P ST B LW P o wfud
advancement of education ? I P WY SR T8 & ?

(A) A trust to  promote (A) R B AR @ arell
archaeology <

(B) A trust to promote nuclear Ao 3 ot
disarmament (B) WA

(C) A trust to establish an art a1 dledl =N
galley © Wﬁ’afwﬁﬁ DA drell =T

(D) None of the above (D) SR H | PIE 7ol
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51.  Which of the following would bea  51. f=ifoRad # 9 &9 fafde Wl =g
valid charitable trust ? 27
(A) A trust to educate my (A) il o1 Rifdd dx aren =
relatives (B) owe wwfmEi @ effe Suew
(B) A rust to preach to my N
nives Al =g =
re :
. (C) T MR TR 3 @9 @
(C) A trust to care for my sick
relatives ford =
(D) A trust to relieve the poverty (D) 3 RGN B TG R B &
of my relatives ford e =
52.  According to Stack Vs Dowden 52. ®&& M SIS (2007) 2 TN 432 &
(2007) 2AC 432 it the couple hold TNIR V] ols gRNI Q:]’ﬂ’cﬁ IGIEEY
the legal estate jointly the Court : Fufy oRa fhar T § 98t <IRITer
(A) Must examine . the whole (A) \EFT ST & e éq
course of dealing to find :
o TIER & g A F W
common 1ntention
(B) Must presume that there is .
also joint beneficial (B) SwRd &% o & aef XTga
ownership BT WA o
(C) Has discretion to award fair (C) SdI wel feed @ T H
shares fad® &1 W Hem
(D) None of the above (D) IR § 9 BIg T8
53. The first category of constructive 53. TS 99 IS B A H TH AR
trust in Leoyds Vs Rosset case, the P VGATHD TN BT PIN IMETRT o7
agreement based on : (A) T & 79 W I & el
(A) Evidence of express o
discussion  between  the B) W & Tt q AR © T
couple RS
(B) Inferred from the couple’s MR R REEIEUNEL
whole course of dealing in (C) Jud $ JER W RGN
relation to the house T fepar T e
(C) Decided by the Court on the (D) SR H | PIE 7ol
basis of fairness
(D) None of the above
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54.  Why \ivas 1tlhere a proprietary 54, IR 99 HoR H Wi fdewE w®f o ?
estoppel in Thorner Vs Major ? St : e
(A) Because Thorner acted to his (A) IR 3 ferd
detriment Hrd IR @ oAl
(B) Because reliance could be (B) ifd AR W RN AT o,
proved in Thorner but not in f T
Yeoman’s RN . _
(C) Because there was a (C) Fifb 92 @1 o)A drell gRI
representation  that  the IdeT THY AN 6 qiﬁ ¥ wh
claimant would acquire an o
interest in land in Thorner, SRR fohaT 7T o AT H e
but not in Yeoman’s (D) SWRITd H F Ig el
(D) None of the above
55. In the case of Twinsectra Vs 55, CfaTddgl M Irsel (2002) T 4T 164
Yardley (2002) AC 164, What was P T | TR MR fohd a1 1 ot ?
the main objection ? (A) U T Gfaer 2N B I
(A) A loan is a contract and does Ty e 8 g
not involve a trust TR e
(B) A private trust cannot be for a (B) T& =l Uik 8 il
purpose, it must be EN T gl qdT, ge
identifiable beneficiaries SRE _gf SBT3 Bl 8
(C) The parties did not intend to (©) TP NEEIRCIKO I REI B
create a trust Tel off
(D) None of the above (D) SR H ¥ Pls Tl
56.  Who hold the equitable interest in ~ 56. U U § GiRGh R DI 9R el & ?
a trust ? Ao
(A) The beneficiaries (A) >
(B) The trustees (B) ~
(C) The settlor (C) FIRIUD
(D) None of the above (D) SR H ¥ Pls Tl
57. Section-14 of Indian Trust Act 57. YRAY =G IJAFIH @ gR—14
deals with : TR PRt &
(A) Lawful purpose Tﬂﬁ@ ? '
(B) Conversion of perishable (A)
property (B) ARG R & FHRIdA
(C) Trustee not to be set up title (C) TR N B AN B
adverse to beneficiary i aRem T BN g
(D) Investment of Trust money (D) = & 3 B ;
58. Who may create trust which  58. YR i JEIH 1882 @1 BIF ¥l
Section of Indian Trust Act 1882 URT PN I DI G PR Gl o
deals ? Pl FRAT FRAT © 7
(A) Section-04 (A) HRT-04
(B) Section-05 (2) ig:gi
(C) Section-07 ED% RT—09
(D) Section-09
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59.  Which Section of Indian Trust Act 59. ffaRed d 9 9RaE =N afdfaE
1882 deals with Trust of moveable 1882 @ BN W URT Id TG AT
and immovable property ? TR D a1 Bl & 7
(A) Section-04 (A) ERT-04
(B) Section-05 (B) #©N—05
(C) Section-07 (C) 8N—07
(D) Section-09 (D) HR—09
60.  Section 34 of the Indian Trust Act  60. WRAY <IN IIETIA—1882 DI TRI—34
1882 provides : IO PRl ©
(A) Trus.tee may not change for (A) ATt Wil & o) GUNIE T
(B) Iseslwcesit of trustees i a 8 %
ndemnity _
(C) Right to apply to court for (B) EE; & & fr
opinion in management of (€) ~a HeH
Trust property A F ég SICEE|
(D) None of the above DR _ _
(D) SWIE ¥ ¥ P Tl
61. Sec. 25 of the Indian Trust Act 61. R 9 3fETTIH—1882 Dl ETRI—25
1882 deals with : THERIT B
(A) Right of title-deed (A) WAa-fdog & ARFR
(B) Non-liability for (B) el @ W @ fon
predecessor’s default SRUAE I
(C) Trustee cannot renounce after (C) =gred], ¥ P d @ TEN SHD
acceptance AR T8l IR AhcT B
(D) Sale by trustee directed to sell (D) <Nl gRI fiRd w9 @& 3R
within the specified time fasha &1 fwreH
62.  Which of the following Section of  62. fdo B9 dell 99k & 9= A
Indian Trust Act-1882 deals with NRAY <19 O T9—1882 &) HIF Jl
the gonversion perishable RT 91 P & 7
property A) gRI—13
(A) Sec. 13 (B) TRI—14
(B) Scc. 14 (B)
(C) Sec. 16 (C) HN—16
(D) Sec. 18 (D) €R—18
63.  Which Section of Indian Trust Act  63. 9RAT IT JIRFRH B B9 A GRT
deals with the who may be fearfafdey o 2 ¥ gHfRd g °?
beneficiary ? (A) ERI—09
gg gec. (1)3 (B) ©RI—12
ec.
(C) Sec. 14 (C) ER=14
(D) Sec. 20 (D) 8N-20
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64.  When did the Indian Trust Act 64. IRAY I AMWFIH 1882 B9 Y9I H
1882, come into force ? 3T ?
(A) 01 April 1882 (A) 01 3B/ 1882
(B) 01 March 1882 (B) 0f T 1882
(C) 23 April 1882
(D) 23 March 1882 © 2 I 1882
(D) 23 W 1882
65. Which of the following are the 65. fA=foRad § & & AfI® STAR &
examples of Equitable remedies ? IS & ?
(A) Specific performance (A) faRdre 3T
(B) Issuing injunction (B) ST ST F
C) Appointment of receiver
ED; Aflpof the above (C) F ﬁgﬁﬂ
(D) SWIa I
66. The Judicial remedies developed 66. R B FIR TN-VIII & 997 H
by Court of equity at a time of fapfyd =1fie SR e &
Henry VIII are called : (A) fofre SR
(A) Legal remedy (B) WG STER
(B) Equitable remedy
(C) Extra-Judicial remedy © W_W SR
(D) All of the above (D) ST T
67. Which of the following are the 67. f=forRad § q @9 " A=IT 9T ©
examples of the maxim “He who S AR HRAT T SERCIRSHIS]
seeks Equity must do Equity” ? 27
(A) Doctrine of Election (A) I & g
(B) Equitable estoppel (B) ™% fdewe
(C) Set-off (C) ﬂ\—,rﬂ-sf
(D) All of the above (D) SWIa I
68. Which of the following case 68. fy=folRad & & @9 &1 AMem A=A
related to maxim “Equity follows A @ oY &Rl B G W
the Law” ? g g ?
(A) Stickland Vs Aldridge (A) Redholvs 97 3‘||(~r§(\|\)‘|
(B) Appa Narsappa Magdum Vs (B) 31 TREw@r ey 9919 3@-@:?[
Akubani Ganpati Nimbalkar G INBGLRIRE N
(C) Both (A) and (B) (C) SWE (A) 3R (B)
(D) None of the above (D) IRIEd § q Blg T8
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69. What is the importance of Lord  69. IS Uced & &1 Hgd © ?
Eldon ? (A) 1 o 991 TF oS IR o
(A) He was Lord Chancellor for a (B) S Wil fafyy yomen @1 venfuq
long time frar R 9= & W W S
(B) He established the system of STaT &
Law known as equity (C) S I H U & YoTel!
(C) He established a system of 3 fapRaa far
precedent in equity (D) SRIGT H I Pl Tel
(D) None of the above
70.  What is the importance of the Earl 70. A A ATABIS B OAE BTG
of Oxford’s Case (1615) ? Tgd g ?
(A) It established the fraud would (A) A H wnfid fem m fé aue
no longer I 9T dd el fob gadr
(B) It developed the use of (B) TOH RY B YAN B fJbId
Injunction fopar T
(C) It showed the power of King (C) I8 o & Wfdd ®T YSRid e
(D) It established that equity 2
prevailed over the Common (D) e vl e war 6 Emm
Law FI o WP R
71. How did the lord chancellor 71. oS IR $Hd Uh IR B Hﬁ'cﬂ
become a Judge ? HeEn g ?
(A) He dealt with petitions in the (A) W9 T oM DY aferemlt @
King foRaRT v €
(B) He administered the court (B) 4 d IRl YoTell &1 WRINA
system P &
(C) He issued writs (C) 4 Re IR o= &
(D) None of the above (D) SRIGT H T DI Tel
72.  What is the meaning of the word ~ 72. "OTRIT 9 &l U1 37 & 7
‘Equity’ ? (A) fafre M|l & orare gioad
(A) The ability to  make &) GHar
exceptions to the legal rules (B) A= e e R R @
(B) The body of Law developed
by the Court of Chancery A
(C) Fairness (©) Fege _ _
(D) None of the above (D) SR H ¥ DI T
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73.  Equity courts could be 73, AR [N $F qu I B
approached: (A) ARHR & A H
(A) As a matter of Right (B) 9wy & A |
(B) As a matter of Property ©) SR 2 (A) e (B)
(C) Both (A) and (B) : :
(D) None of the above D) ST H ¥ DI F
74.  Who defined “equity as the spirit ~ 74. Ry ) faferdi @ umor v S B
and soul of all Laws” ? forae g ot -
(A) Blackstone (A) HEH
(B) Plato (B) Wil
C) Metland
ED; Austine © el
(D) 3mRed
75.  In case of conflict between equity  75. faffre ywwfay v wmam & 9 AW @l
and the text of Law the Court shall Rfd & <ITe gRT SYARIT SR
choose : (A) = ol
(A) Equity B) RfrE wh 31
(B) Text of Law ©) o Rk S YW A
(C) Have the discretion to choose _
between equity and Law fafe W a W_
(D) None of the above (D) SR H H 35 T
76.  English rule of equity have been : 76. R w1 3 fafy @y
(A) Substantially incorporated by (A) IR [qemuIfeld gRT d1H! 85
the Indian Legislature I TR T &
(B) Partially incorporated by the (B) 9NN RYFURIGT §RI 39
Indian Legislation ST AT
C) Wholly incorporated by the
“ IndianyLegisll;iion ’ (ORULCIRICE &Nt W
(D) None of the above T SR AT &
(D) SR § | B T2l
77.  The Primary Source of Equity is : 77. AT @1 WIS WG €
(A) Custom (A) uer
(B) Written law (B) forRaa fafd
(C) Judicial decisions ©) = A
(D) Conscience (D) T/ \ch
Series-C LL.B604/ 393 Page - 20



78.  Why did the system of Law known  78.  fafff yorell § &9 &1 Ol ® f @
as Equity come into existence ? aT 3R & ?
(A) To supliment and modify the (A) S o ¥ s @ IFTRD T4
injustices of the Common G @ o Ree & @Y ¥
Law
(B) To provide a small claims (B) = q_lql IR B S
court (C) fafy # guR
(C) To reform the law (D) SR H § 35 T
(D) None of the above
79.  Which one of the following is false 79. Afad dfdex & ded § fEfeRad #
in the context of Equitable ¥ P T & ?
compensation ?
(A) Delay defeats equity (A) faerg | BT TRIFTT el &
(B) The limitation period of a (B) WIfa® yfad F <4 P e @
claim for equitable
compensation can be ST FERAT S A &
extended (C) Ifrrgad i afd FeRor &
(C) Reasonable foreseeability is a W wl S yfeer
key factor in determining the
level of loss that can be ERISIEI
compensated (D) SRIFT H A IS T2
(D) None of the above
80. Which of the following best 80. f=foRad # ¥ @9 AIftgd STERT &
describes the nature of Equitable 1;@{%{ D BN T H WE P IE & 7
remedies ? (A) d dad 92 U 9 & STl B
(A) They are only granted where A
a common law remedy would S :
also be due ®) q Wﬁlﬁ Wl ¥ AR
(B) They are discretionary in P Al SR & ST G
nature and depend upon the T W PR P 2
availability and adequacy of (C) 9 ARBR WHY &M @I Sl &
common law remedies (D) SWRITd H F I3 ol
(C) They are awarded as a right
(D) None of above
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81.  If there is one principle of Equity 81. IfT 9= & W & @WUT kil
that can be said to be of most Rigrat o @1 99 a7 T W
significant to its operation and g
indeed its existence it 1s :

(A) Equity is triggered by (A) ST ST N SO
unconscionability (B) T foxl Uy & 91 SUER
(B) Equity will not suffer a Te1 Y& o
wrong without a remedy (C) W fwg T @ 2 Uy
(C) Equity looks to substance -
rather than form
(D) Equity follows the law (D) T A T S il

82.  Which equitable maxim would be ~ 82. fyfaied # & &9 W Af®d 3
applicable in Highway man case ? qCARI & 978 H WgE fobar T ?

(A) Those who seek equity must (A) SRIT DI VST HR dlel Bl Y
do equity W AR Bl FIER BT ANy

(B) Equity treats as done that (B) RIS fam ST ARy SRAY B
which out to be done far T A @

(C) Equity will not assist a (C) @ & B A wEEa @
volunteer TegHaT T 2

(D) Those who come to equity (D) SR @ IR 3 e e @
must come with clean hand frfer grll & 3T =IiRe

83. The phrase “English Legal 83. Sfad “aifvel fafer yomel” &1 My 2
System” refers to : (A) T 3R Jou B RN Jomeh
(A) Z:de i;:iils System of England B) e e & R T 4
(B) The Legal System of England (C) Sivs, ded 3R YhCoTS Pl

only fofey yomelt &
(C) The Legal System of :
England, Wales and Scotland (D) aﬁ:ngé@ TSR @ fas S
(D) The Legal System of United
Kingdom
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84.  Statute Law refers to : 84. <ifafe fofyr defia o=ar B
(A) Law created by judges (A) M ¥ e W foly gw
through the deciding of cases <Jrmedier Rt &1 fFEr e ©
(B) To mitigate the harshness of (B) T o ENI g et W
the common law by deciding N -
. S~ BieASdl Bl AR gl
cases based on fairness and 5 R
equality ER | Rl
(C) The body of Law regulate g _
relationship between the state (C) fafer GIRT XISY =1 D ANND
and its citizens o e o fafafid fear smar
(D) The body of laws creates by 2
Parliament in the form of (D) fofy woe gnr fourg & wrgw &
legislation T o &
85.  Which of the following countries 85. fy=fofad § 9§ @9 A1 < HFE o
does not have a Common Law fafS gomrel eriRa =&} @ear ?
Legal System ? (A) RIS
(A) England
B) 4 ?ﬁ o
(B) Australia (C) T
(C) U.S.A. © ?1-. o
(D) France (D) R
86. Which of the following is not a  86. f¥=ifoiRad & ¥ & “HMF " I B
meaning of the term “Common e TS g ?
Law” ? (A) 79l 9 et <memier fafy
(A) The body of Law as made by g &
Jud though th :
neses NS : (B) s @ RN gl e w
determination cases Ra &
(B) A Legal System that is based Sﬂ%
on that of England (C) waq gr fafy @r fmmr faan
(C) Law created by Parliament e ©
(D) None of the above (D) SWRITd H F I3 Tl
87. Which of the following make up  87. fy=ifoiRad § & B9 &9 FWaT¢ FHA
the Three Certainties ? 39
(A) Certainty  of  intention, ' .
purpose and subject (A) SRy, Se¥d SR favg o v
(B) Certainty of Trust, intention (B) =TV, 3TN 3R Ie3T B FHIGATG
and purpose Sw, fw R R @
(C) Certainty of object, subject © .
and confidence SAIERIN
(D) Certainty of intention, subject (D) 3N, fauy iR JeIT A1 FWIGATY
and object
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88.  Which of the following is not an ~ 88. f¥Hforad ¥ ¥ 3 HRI® T el &7
equitable maxim ? (A) IHI {68 TS 4 UER f9gH
(A) Equity will not suffer a Tel vg <
wrong without a remedy (B) 91 @ fhar wfdd | W
(B) Equity acts on personam IGdT 2
(C) Equity sees as done that (C) RIS fa ST ey St ot
which ought to be done far a7 79T @
(D) Equity looks to form, not (D) =T WY B <A T AT Pl
intent T8
89.  What is the purpose of the Equity? ~ 89.  ¥TRIT &l S£3F & © ?
1ify th
W ool mlih b (x) a1 3 s o
o %aw ’ 1 . 3R SE W IHH oA B
rovi n rnati
® s;steilocjf Leawa Hemative B) fofr woieht & favey & w0
(C) To allow for the recognition (C) Y & "I B ST R @I
of Trusts
(D) To provide a quicker system (D) =TT BT eI YoTTell SUTE] BT
of Justice
90.  Which of the following is not an ~ 90. fy=forgd & | oH WG ITAR &l
equitable remedy ? g7
(A) Injunction (A) A
(B) Damages (B) Hﬁtﬂ%‘f
(C) Specific performance (C) faftre STt _
(D) None of the above (D) SR H H 3T T
91. Jeremy Bentham’s Principle  91. Sl 9/ & Mg “9goM GO’ W
‘greatest happiness” based on : 3MRA B
(A) Principle of Utility (A) ST & RigMd
(B) Principle of Equity (B) =i g ﬁ"?'_d W
(C) Principle of Equality (C) HHTI & figrd W
(D) Principle of Justice (D) % frgrd ®
92.  The maxim that “delay defeats 92. “fdeFd AR & WA &Rl & G
equity” express which doctrine ? ford RigrT & &ad axar 8 ?
(A) The doctrine of luckies (A) ITHRY T Rigrd
(B) The doctrine of leeches (B) wRefid @1 Rigr
(C) The doctrine of laches (C) 3 1 Rigr
(D) The doctrine of catches (D) KRR RSE
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93. The Judicature Acts- 1873-75 93. fi=foRed & & fea = o
provide equitable remedies from \—gﬁzﬁa-\y Tdc —1873—1875 ENT WIRI®H
which of the following Courts ? STAR e a7 e o ?

(g) %(;mgl;n Lawgoms (A) B o Bl
¢ Chancery Courts
(B) y Cou ®) T T P
(C) The House of Lords o .
(D) All of above (C) < TSN St cifed
(D) SWIa wf H

94. Complete the maxim “Equity 94. F 2l E{US[ HRY —
s P T
(A) Fairne.ss (A) BRI
(B) Equ-ahty (B) SRR
(C) Justice D
(D) Reasonability ©

(D) Rerifafere

95. The equitable maxim “He who  95. 9 & 3 — "9HI0 Pl 3T TR
seeks equity must do equity” deals aqel @ W@ TR @ FIER B
with what type of behaviour ? Ry g e & AGRR ¥ g
(A) The future behaviour of the g7

claimant (A) %‘cn B el B AAH B AR
(B) The past behaviour of the
: (B) T@I I dqd T qAIA B
claimant .
(C) The future behaviour of the @ W ol
i (C) WEdRI & 9 & TR0 &l
parties . (D) wREE B > 3
(D) The past behaviour of the Tt ¥
defendant

96. The case of Penn Vs Lord 96. U9 §M e dlccER &I HHaT
Baltimore = demonstrates which ffoied 4 9 foa s g3 @l
equitable maxim ? UG el 8 ? |
(A) Equity looks to intent, not (A) NRIT U BT TE PR DI T

form g
(B) Equity acts in personam (B) W @1 fpar @ EREER
(C) He who comes to equity must g :
. (C) 9T @ IRV H 3 drel B
come with clean hands s : o
(D) Equity follows the la i
quity totlow W (D) TR fafdy BT SRR el &
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97.  Which of the following statements ~ 97. fy=forlRad & & @9 A1 FAF AR B
best describe the function of R P S8R 37 9 GRWINT Hdr & ?
Equity ? (A) IR FEE o A $ @OR
(A) iqugyh.mtervﬁ.m;s to prefvent T W SO Bfogdl Bl

andships which arise from
the strict application of ¥ B ford = ol 8 :
common law rules (B) I AT AR Fo W
(B) In general equity tends to pay oI W_ ¥ e ol g
closer attention the fact of (C) SWIE 3FI (A) 3R (B)
individual case (D) SWRIGT H F BIg el
(C) Both (A) and (B)
(D) None of the above

98.  Which Act was responsible for 98. ®F W AW sfdad) o vd FHEA
unitying the administration of the At IS © ALY G TAT DA b
Courts of Equity and the Common for RreR ot ?

Law Courts ?

(A) The Supreme Court Act Egi ;ﬁﬁjgﬁé%

(B) Provisions of Oxford o AR

(C) The Statute of West minister © = {EE\ ic S T

(D) The Judicature Act 1873-75 (D) < PR TGcH — 18731875

99.  What was the significance of the  99.  ‘37cf 3% ITRTBIS AT & T W
Earl of Oxfored’s case ? 27
(A) The case resolved the (A) 75 R I P Ay gy @

ongoing battle for authority ARTERT & w7 3
lgf;\tzzeen Church and the (B) W& @ w?*IT W =T B 9
(B) The case established the iﬁq}'—d g Tl W Wﬁ 3
principle that where equity RigrT ol Tl & WY |
and the common law conflict, (C) SWEd Ml (A) IR (B)
equity prevails (D) SWRIGT H F BIg el
(C) Both (A) and (B)
(D) None of the above

100. Why was the system of Law 100. fafyr yomell @ W= WWG @@ S

known as Equity created ? ST o1 ?
(A) Tq supliment and modify the (A) ®ET o & g B Jped g
Eljustlce of the Common e @ foru
(B) Tg“ll)rovide a quicker system (B) T3 EF&) ot Ul % 5 A
of Justice (C) fafy W @ fory
(C) To reform the Law (D) = & AT & A 6 forg
(D) To allow the recognition of
Trust
Xdhkdkkk
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